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Q1. (a)  Simplify fully J2 8-

ANSWET <.ttt
@)
(b)  Given that W= ¥ =-8 z=-f10
work out the value of ¥
XZ
Write your answer in its simplest form.
ANSWET <.t
(@)
(Total 4 marks)
Q2. (@  Simplify fully J75 427
You must show your working.
ANSWET it

@
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(b) Rationalise the denominator and simplify

ANSWET .o
2
(Total 4 marks)
Q3. Show that (JE_EI— ﬁ)z is an integer.
.................................................................................................................................. (Total 2 marks)
Q4. Write each of these in the form p.,(3, where p is an integer.
(@) B x50
ANSWET <.ttt
2
(b) A5 + 75
ANSWET .o,
2
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A3
ANSWET oo,
2
(Total 6 marks)
Q5. (@ Work out the Highest Common Factor (HCF) of 42 and 98.
ANSWET L.t
2
(b) Write @ + Jﬁﬁ in the form aJE where a and b are integers.
ANSWET ..ttt
2
(Total 4 marks)
Q6. (@) Simplify (9 +N7)(9 +\7)
Give your answer in the form a+bV7
ANSWET ..ottt

@
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N2+6 _ g
¥ = 2} +43)

(b) Prove that

(4)
(Total 6 marks)
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